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VBF H — yy CP workspace
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Overview

* HVV CP study in H — yy channel
* SMEFT Warsaw basis, cyyp as parameter.
CP observable: optimal observable OO. Divided into 6 bins.
Event classification: 2 BDTs BDTygr/ggr, BDTygF jcontinuum-
4 categories are defined: TT, TL, LT, LL. TT, TL and LL are used.
Fit m,,, shape in 3xX6 BDTXOO bins.
Likelihood: L(ftvb £+ Nokgs Epkg, 0lm,) =TIV Pois(n;|vi(tvpy,0)) I—[;-lil fi(ml,;0) [T G(6x)

ﬁ(myy) - I:(/‘lvbf XN bf (0) +N gF(o) +N spur X g_ls*pur) X fsig(m‘yy;/‘liCB(o)y o-éB(o), féjB)"'
kag X fbkg(m’y'y;gbkg)]
= Hvbf xvaf(0)+ gF(0)+N;pu,x0;pu,+N;,kg
Nibf (0) = Nl nom X Hk Respk(gk) > N;gp(o) Nl et X Hk Respk(gk)

ggF

pig(0) = per®™ X [Ty Respi(8x) ,  oip(8) = o™ x [Ty Respr(6k)



Parameterized workspace

 Signal morphing:

* cross section oygr(cyw) = ZiAl-cIZW = Ao + A;cyyy(linear) + Achm«, (quad).
* Need 3 samples (SM, ¢y = 11) to determine A4;.

e Statistical model:

* L = L(cyw, bver Nbkgr Spkg Opkg|myy)
® NVBF == NVBF(CH[/T/) — AO + AchVT/ + AZC?IVT’ )

cyw tunc. (stat.)(68% interval)
e Others are kept as constant to SM. 0.000-743(0739

TT i
* Different from now: NPs varies with cyyy. TL 0 00+8.’3§§(§8.’3§%:
"7 -0.763(0.762
* Fit the model in TL category: cypy = 010737 (stat. only) LT 000" 061 086)
* Need to check the difference. combined 0.00"5 4750 471

* Preparing a report in HComb meeting on Wednesday.



